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DCI size for formats 0-0/1-0

Proposals:

· Confirm the WA on at most 3+1 DCI sizes (3 targeting RNTIs including the C-RNTI, 1 targeting RNTIs not including the C-RNTI) by the UE per slot

· DCI format 0-0/1-0 can be received in both CSS and USS.

Previous WA from Vancouver on the size of DCI formats 0-0/1-0 is replaced by:
When monitoring for DCI in a BWP, the size of DCI format 0-0/1-0 is given by
· For format 0-0/1-0 (regardless of RNTI) in CSS, the size is given by the initial DL BWP
· For format 0-0/1-0 in USS, the size is given by the active BWP as long as the DCI size budget is fulfilled
· FFS: Otherwise, for format 0-0/1-0, the size is given by the initial DL BWP
· FFS: how to meet the C-RNTI size and DCI size budget per slot
· align 0-1 and 1-1
· configure active BWP such that the DCI size is the same as of the initial BWP
· do not configure 0-1 and 1-1
· do not configure 0-0/1-0 in USS
· …
· FFS: for format 0-0/1-0, how to interpret the frequency-domain field in a DCI with a size defined from a BWP with a different size than the BWP it is applied to
DCI interpretation and BWP switching

Working assumption:
· Sizes of all DCI bitfields in DCI formats 0-1 and 1-1 in USS determined by current BWP. Data transmitted on the BWP indicated by the BWP index. If the BWP index activates another BWP, transform as follows:
· Zero-pad too small bitfields to match the new BWP
· Truncate too large bitfields to match the new BWP

Offline proposal:
Conclusion: Resource allocation type 0 works with padding/truncation, at least when only resource allocation type 0 is configured. 
FFS: Need to correct resource allocation type 1. One possibility is to use the same mechanism as anyway needed by the DCI size format 0-0/1-0.
